Theme 1 - PES

Price Elasticity of Supply
On the axes below, draw a supply curve and label the impact of a price change upon quantity.
Explain why this relationship between price and supply occurs.








What does price elasticity of supply (PES) measure?



How do we calculate price elasticity of supply (PES)?



Elastic PES coefficient =                                                                           Inelastic PES coefficient = 


Explain why the PES coefficient will always be a positive number.






Elastic and inelastic supply curves



                 






Draw and annotate an elastic supply curve                      Draw and annotate an inelastic supply curve

In terms of the relationship between price and quantity supplied - goods with an elastic supply curve mean….





In terms of the relationship between price and quantity supplied - goods with an inelastic supply curve mean…




Mr Wilson’s Thinking Further Challenge
How might PED and PES impact the success of the price mechanism and ultimately the argument for/against a market free from government intervention?



Use the formula and your own intuition to calculate the following questions:

1) A firm’s market price increases from £1 to £1.10, and its supply increases from 10m to 12.5m. PES is: 







2) PES is 2.0 for CDs and the firm supplied 4,000 when the price was £30. 
If the price increased from £30 to £36, what will be the new quantity supplied?








3) Consider a product that has a supply which is fixed in the short-term, what do you think the supply curve would look like? Give an example of such a product.












4) Consider a product which can immediately respond to any given price change, what do you think the supply curve would look like? Give a possible example of such a product.
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There are two main types of factor immobility: occupational and geographical immobility.
Occupational immobility: occurs when there are barriers to the mobility with regards to any of the factors of production between different sectors of the economy. For example, workers may not have the skills to switch from the mining sector to the banking sector (structural unemployment). Or capital may be so specialised in one sector, such as a nuclear reactor, that it cannot be used/adapted in a different sector like a book publisher.
Geographical immobility: refers to barriers people moving from one area to another to find work. This could due to simple large distances, or it could be due to family ties, differences in house prices or lack of transportation.
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Factors impacting price elasticity of supply
	PES Factors
	Question
	Answer

	Scarcity of raw materials or land (factor or production).

	Explain how scarcity impacts upon PES. Can you give an example of a good that requires a scarce raw material in its production and is therefore inelastic?
	

	The length of time it takes to produce a product. 
	Explain why agricultural goods are inelastic during some periods of the year and elastic during others.
	






	Stocks of finished products and components: Some goods are easier and more practical to store. 
	Why might a product be difficult to store? How could this problem be combatted by a firm? What are the problems with your solution to this problem?
	







	How easily resources can be used transferred to making other products.

	Outline two goods in which it would be difficult to switch resources from producing one to the other. Explain this problem in terms of opportunity cost.
	

	Factor immobility – when the factors of production are available, but cannot get to where they are required.
	If a firm located itself in the mountains, why might land, labour and capital be difficult to acquire? How might high house prices create immobility in terms of labour?
	

	Spare production capacity left within a firm.
	How could a firm solve the problem of having a 
low-production capacity? Suggest one reason the firm would want to do this and one reason why they wouldn’t.
	







	In the long-run, supply for goods tends to be more elastic.

	[bookmark: _GoBack]In relation to oil, explain why oil might be more PES elastic in the long-run, as opposed to PES inelastic in the short-run. What might happen? Why might wheat also be inelastic in the SR?
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Question paper - Unit 1 (6ECOT) - January 2010

8 Which of the following is likely to be the most effective measure for increasing the
‘geographical mobility of labour?
A Asubsidy to firms that relocate to areas of high unemployment
B Anincrease in the Job Seeker's Allowance for the unemployed
€ Anincrease in the stamp duty tax on buying a house

D Increased government provision of information on job vacancies in different areas
of the UK.

Answer

Explanation
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Question paper - Unit 1 (6ECOT) - January 2011

8 Which of the following is most likely to reduce the geographical mobility of labour?

An improvement in the skill level of the workforce
A shortage of affordable housing across the UK
Relocation grants for key workers

A reduction in petrol prices.

Answer

Explanation
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5 In 2016, Tata Steel announced plans to close its iron and steel factories in England
and Wales. This could lead to 40 000 job losses.

Which one of the following measures is most likely to increase the occupational
mobility of labour?

A subsidy to firms that relocate to areas of high unemployment

Anincrease in benefits for the unemployed

A subsidy to the unemployed to relocate to areas of low unemployment
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Anincrease in the provision of retraining schemes

Answer
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2 Price per pair of sports shoes (€)|
R

Demand
Quantity (000s)

‘The diagram shows the market for sports shoes. Which of the following is true?

The supply of sports shoes is price inelastic.
The area of consumer surplus is greater than the area of producer surplus.
There is constant price elasticity of demand along the length of the demand curve.

There is an inverse relationship between the price and quantity supplied of sports
shoes.
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Question paper - Unit 1 (6ECO1) - January 2013

6 With reference to the reason provided, which of the following is most likely to have a
high price elasticity of supply?

IT Technicians, because there is a high demand for their services
New houses, because they take a long time to build
Wheat, because large stockpiles are available

Organic vegetables, because they have close substitutes
Answer

Explanation
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6 Market research estimates that a 100% increase in the price of coffee in Uganda leads
t0.a 33% increase in the quantity supplied. This information suggests the supply of
coffee in Uganda is

income inelastic

price elastic

A

B

C unit elastic
D

price inelastic
Answer

Explanation





